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QUESTION 1

Which of the statements below best describes the operation of the IPv6 anycast address? 

A. A packet with a destination anycast address is sent to all nodes on the local link. 

B. A packet with a destination anycast address is sent to all nodes on the local network. 

C. A packet with a destination anycast address is sent to all nodes that have joined the anycast group. 

D. A packet with a destination anycast address is sent to the nearest node that is assigned the anycast address 

E. A packet with a destination anycast address is sent to all nodes that are assigned the anycast address. 

Correct Answer: D 

 

QUESTION 2

Which of the following statements regarding the IS-IS CSNP is false? 

A. CSNPs are used to maintain consistency in the link state database. 

B. CSNPs are advertised before an adjacency is formed with another router. 

C. There are two types of CSNPs: Level 1 and Level 2. 

D. CSNPs are advertised after an adjacency is formed with another router. 

Correct Answer: B 

 

QUESTION 3

How are LSPs acknowledged on IS-IS broadcast links? 

A. The LSP is acknowledged by sending a PSNP PDU. 

B. The LSP is acknowledged by sending an LSP PDU. 

C. The LSP is acknowledged by sending a Hello PDU. 

D. LSP are not acknowledged on broadcast links. The DIS sends periodic CSNPs to maintain database synchronization 

Correct Answer: D 

 

QUESTION 4

What acts as the tie breaker on an Alcatel-Lucent 7750 SR if the priorities are the same when IS- IS is electing a DIS? 

A. The system ID 
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B. The loopback address 

C. The sequence number of the hello packet 

D. The device that first initiated communication becomes the DIS 

Correct Answer: A 

 

QUESTION 5

In OSPFv3, which of the following LSA types carries prefixes and is only flooded in the area where it is generated? 

A. Link 

B. AS External 

C. Router 

D. Intra-Area Prefix 

Correct Answer: D 
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